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(a) M1L2T-2 (b) M0L1T0

(c) M1L3T-2 (d) M0L0T0

Q) In the formula 𝑃 = 𝑃0𝑒
−
ℎ𝑐

𝑥 , h is Planck's constant (Unit = J-s) and c is speed of 
light. The dimensional formula for x is



Ans. c



Solution:



Q) In a book, the answer for a particular question is expressed as 𝑏 =
𝑚𝑎

𝑘
1 +

2𝑘𝓁

𝑚𝑎

here m represents mass, a represents acceleration, l represents length. The unit of b 
should be

(a) m/s (b) m/𝑠2

(c) meter (d) sec−1



Ans. c



Solution:



Q) The velocity v of a particle at time t is given by v = at+
𝑏

𝑡+𝑐
, where a, b and c are 

constants. The dimensions of a, b and c are respectively: 

(a) LT–2, L and T (b) L2, T and LT2

(c) LT2, LT and L (d) L, LT and T2



Ans. a



Solution:



Q) The time dependence of physical quantity P is given by P = P0 𝑒
−𝛼𝑡2+𝛽𝑡+𝛾, 

where a, b, g are constants and their dimensions are given by (where t is time) -

(a) M0 L0 T–2, M0 L0 T–1, M0 L0 T0

(b) M0 L–1,T–2, M0 L0 T–1, M0 L0 T

(c) M0 L0 T–1, M L T–2, M0 L0 T–1

(d) M, L, T,  M L T0,  M0 L0 T0



Ans. a



Solution:



Q) If A and B are two physical quantities having different dimensions then which of 
the following can’t denote a new physical quantity? 

(a) 𝐴 +
𝐴3

𝐵
(b) exp −

𝐴

𝐵
(c) AB2 (d) 

𝐴

𝐵4



Ans. b



Solution:



Q) A hypothetical experiment conducted to find Young’s modulus Y = 
𝑇𝑥𝜏 𝑐𝑜𝑠 𝜃

𝑙3
where  is torque, l is length and T is time period then find x.

[Hint: Unit of Y is N/𝑚2 and Torque = Force × Perpendicular distance] 

(a) 0 (b) 1

(c) -1 (d) 2



Ans. a



Solution:



Q) While printing a book a printer made certain mistakes in the following relation. 
Find the correct relation. 
(y, A and x are in meter)

(a) y = A sin  (b) y = A sin (x + ) 

(c) y = A sin (t + ) (d) y = (A/x) sin t + 



Ans. c



Solution:



Q) ׬
dt

2at−t2
= 𝑎𝑥 𝑠𝑖𝑛−1

𝑡

𝑎
− 1 The value of x is

(a) 1 (b) -1

(c) 0 (d) 2 



Ans. c



Solution:



Q) If force F = 
𝐾𝑒−𝑏𝑟

𝑟2
varies with distance r. Then write the dimensions of K and b

(a) ML3T-2 , L-1 (b) M-2LT-3 , L-1 

(c) ML-2T3 , L-2 (d) M-2L-3T2 , L-2



Ans. a



Solution:



Q) Let x, y and z be three physical quantities having different dimensions. Which of 
the following mathematical operations must be meaningless?

(a) 
𝑥

𝑦
= 𝑧 (b) 

𝑥𝑦

𝑥+𝑦
= 𝑧

(c) 𝑥2𝑦3 = 𝑧 (d) 𝑥2 + 𝑦3 = 𝑧



Ans. b



Solution:
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